Welcome, Short Course detectives!  Mr. Lucky was killed in his house today, and it is up to you to determine who killed him, and what weapon they used to do it.  Police have determined that only the following people and weapons were in the area at the time of the murder:


Suspects:  Jim, Kim, Pam, Sam, Tam, and Tim.

Weapons:  A cleaver, a dagger, a machete, a switchblade, and a sword.

Rules:

· Teammates must stay together throughout the event.

· Take only one clue sheet (per team) from each checkpoint.

· No sharing of information (puzzle solutions, clues, guesses, etc.) with other teams!
Scoring:

· 1 point for each checkpoint clue sheet retrieved.  (10 total points possible)

· 1 point for each checkpoint puzzle solved.  (6 total points possible)

· 1 point for determining the correct murderer.

· 1 point for determining the correct murder weapon.

· Team with the highest score wins.  Ties on score will go to the team with the faster time.

	Detective(s) on your team:
____________________________________________

Murderer:


____________________________________________

Murder Weapon:

____________________________________________
	Race Director Area:

Start Time:

Finish Time:

Total Time:

Score:


      Clue Sheet S2:

· The sword is heavy; A person would need to weigh at least 175 pounds to be able to kill someone with it.

· Footprints at the crime scene indicate that the murderer wears size 10 shoes.

· Mr. Lucky had type A blood.

      Clue Sheet S4:

· The switchblade was sterilized and cleaned in alcohol, so it's devoid of any blood or fingerprints.

· Tim is 6 feet tall, and is quite strong.

· The autopsy reveals that the murder took place sometime between 2pm and 3pm today.

      Clue Sheet S6:

· Sam wears size 10 shoes, and prefers to wear sneakers.

· Forensics has determined the machete has been sheathed and unused since it was sharpened a week ago.

· The depth of the footprints at the crime scene indicates the murderer weighs between 130 and 150 pounds.

      Clue Sheet S7:

· Kim weighs 141 pounds.

· Samples of blood found at the crime scene indicate that the murderer has type O blood.

· The several customers confirm that the cleaver was in the butcher's shop from 1:30pm to 3:30pm today.

      Clue Sheet S3:  This puzzle solution is the suspect whose name, when spelled in reverse, spells an item

      that your team was given.

· ___________ has type AB blood.                                                                                                              (Puzzle Solution)
· Forensic analysis reveals that the murderer must be at least 5 feet and 6 inches tall.

      Clue Sheet S9:

	Across Clues:

3.  Cereal is served in these.

5.  This puzzle solution.

6.  A red traffic sign.
	Down Clues:

1.  Decomposes or decays.

2.  A red Sesame Street character.

4.  Cleverness.
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· ___________ weighs 190 pounds.                                                                                                             (Puzzle Solution)
· Tam is right-handed.

	Clue Sheet S5:  Fill in the following squares in the grid to reveal this puzzle solution:
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· ___________ wears size 14 shoes.                                                                                                            (Puzzle Solution)
· The dagger looks real at a distance, but close examination reveals it's an extremely fragile plastic replica.

	Clue Sheet S10:

Count the number of hearts in the pattern to the right.

This puzzle solution is as follows:

     63 total hearts:  Jim

     64 total hearts:  Kim

     65 total hearts:  Pam

     66 total hearts:  Sam

     67 total hearts:  Tam

     68 total hearts:  Tim
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· ___________ was observed by several witnesses eating lunch from noon until 1pm today.                             (Puzzle Solution)
· The shape of the wounds on Mr. Lucky's body reveals that the murderer must have been right-handed.

